Name: . Class: Date:

Trig Midterm Review

Maultiple Choice

Identify the letter of the choice that best completes the statement or answers the question.

1. Change 360.43° to degrees, minutes, and seconds.

a. 360°55° 56" c. 360°56° 307

b. 360°257 48" d. 360°53"55"
2, Write 87° 26" 3" as a decimal to the nearest thousandth.

a. 87.437° c. 87.484°

b.  §7.444° d. 87.434°
3. Give the angle measure represented by 120° rotations clockwise.

a. 43199° c. —43200°

b. —43203° d. 43201°
4. Find the least positive angle measurement that is coterminal with —230°,

a. 140° c. 130°

b, 135° d. 132°

Find the values of the sine, cosine, and tangent for ZA.

3. 4
Tm
c a m B
~ 65 74 65
a. sind= ,cos 4= ,tan A=—
65
~f 65 Al 65 4
b, sind= ,C08 4= Jtan 4 =—
4 7
~ 65 ~/ 63 7
c. sind= ,co8 d= ,tan A= —
7 4
T~ 63 4.4 65 7
d. sind= ,C08 A= pm ytan 4= —
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3
6. Iftand = E , find sing.
1

a. sing :—2— c. sm@ =2
3 3
b. sing = d. sing =—
5 5

7. Find cos @1f &1s an angle in standard position and the point with coordinates (—12, 5) lies on the terminal
side of the angle.

5 13

a. - c. ~—
13 12

5 12

aa—— d' —

12 13

8. Find the values of the six trigonometric functions of an angle in standard position if the point with
coordinates (6, 8) lies on its terminal side.

) 5 5 3 ' 3 4 4
a Sina@=—,co8 @¢=—_,lan @¢=— ¢, sing@=-,cosg=—,tan a=—
4 3 4 3 3
4 3 4 5 5 3
CSC X =—,8eC &= —,cot x=— csca=-,880 &= —,cot &= —
5 5 3 4 4
4 3 4 4 3 4
b, sihnag=—,cosa¢=— ,tan a=— d sihe=—,cosa=—,tan a=—
3 4 5 5 3 3
3 4 5 5 5 3
cse = —,sec &= —, cot x =~ csca=—,%ca=—-,cota=—
4 3 4 4 3 4
9, If g =26.4 and F =35°, find A Round to the nearest tenth.
H
£ J
-
ra i {7
a. h=226 c. h=2456
b. h=216 d. h=206



1D:

10.

11.

12.

14.

15.

17.

Solve the equation if 0° < x < 360°,

I
COSX = —
a. 135°,225° c. 150°,210°
b, 210°,330° d. 120°, 240°
Name four angles whose tangent equals 0.
a.  45°, 1359, 405°, 495° c. 0° 180° 360°, 540°
b.  90°,270° 450°, 630° d. 90°,450°, 810°, 1170°
A3 |
Evaluate sec| sin -"5"“ . Assume that all the angles are in Quadrant 1.
23
a. 3 o
3
1
b. 2 d. =
2
Ifr=385and s =31.4, find S. Round to the nearest tenth.
&
£
g
=
Ry r T
a. §=153.6° c. S=54.6°
b, S =56.6° d §=55.6°
In right triangle ABC, 4 =28°, b =7, and £C is the right angle. Solve the triangle.
a. B=62°a=33,c=77 ¢. B=62°a=37,¢=79
b. B=62°a=179,¢c=3.7 d. B=62°a=62,c=94
In right triangle ABC, b = 6, ¢ = 13, and £ is the right angle. Solve the triangle.
a. A=63°8=27°a=115 ¢c. A=65°,B=25%a=143
b. A4=27°,B=63%a=115 d. A4=25° B=63°a=143
In right triangle ABC, B = 75°, ¢ = 14, and ZC is the right angle. Solve the triangle.
a. A=15%a=132,6=47 ¢c. A=15%a=1355b6=37
b, A=15%a=47,b=132 d A=15%a=37,b=135
Given a triangle with @ = 19, 4 = 43°, and B = 26°, what is the length of ¢? Round to the nearest tenth.
a. 20 c. 27
b. 25 d. 28



Name: ID: A

18. Find the area of the triangle with 4 = 60°, b = 11 feet, and ¢ = 8 feet. Round to the nearest tenth.

a. 2ff c. 441
b. 381 d. 1241
19. How many triangles are there that satisfy the conditions a = 14, b = 2, a = 66°7
a. impossible to determine c. O
bh. 2 d. 1
20. Given a triangle with =7, ¢ =3, and 4 = 37° what is the length of a? Round to the nearest tenth,
a. 49 c. 55
b. 5.9 d 43
21. Find the area of the triangle with a = 18.8, & = 11.6, ¢ = 13.8. Round to the nearest tenth.
a.  79.1units’ c. 82.7units’®
b, 79.7 units® d.  80.1units®
22. Change 1.96 radians to degree measure. Round to the nearest tenth,
a. 472.3° c. 292.3°
b, 112.3° d. 202.3°
23. Change 290° to radian measure in terms of =.
29 29
a. —mn c. —T
27 36
29 29
—T d —=x
18 9
24, Find the area of a sector with a central angle of 32° and a radius of 8.5 millimeters. Round to the nearest
tenth.
a.  40.4mm’ c. 202mm’
b, 2.4mm’ d. 9.5mm’

25. A pulley of radius 10 cm turns at 6 revolutions per second. What is the linear velocity of the belt driving the
pulley in meters per second?

a. 37699 m/s c. 166.67m/s
b, 1.67m/s d. 3.77m/s
26. Use a graph of the sine function to find the value of & for which sin = 0.
a. 8=gk c. = % + zk
T
b. 6’:5+2x£: d. f=2mk



Name:

27. Find the amplitude, period, and phase shift of f(x} = —4 sin(7x +2).
a. amplitude =4
2n

eriod = —
b 7
hase shift = -~
P 7
b. amplitude =4
4 n
eriod = —
P 7
h hift 2
ase shift =~ —
P 7
¢, amplitude =38
i
period = -
hase shift=——
P 7

d. amplitude =—4
period = 2n

2
phase shift = —

28. Write an equation of the cosine function with amplitude 2 and period 4.

l 1 |
a. y:ZCos[Ex] c. yz—*2~ cos[gx]

1 1 1
b, =-2c08] —x d. =— cOos| —x



Name: ID: A

29. Graph the function. Which choice gives the amplitude, period, phase shift, and vertical shift for the function?

3
¥ w4cos[39+zn] +4

a. o4 c. wod”
o %) o 2'7[9 72:7r o o[ 34— 2=7r9
-0+ 10
1 2 1
4,_7?',—""7[,4 74;573';_.“«73-)4
b. ot d. o’
A/\/\ A My .j /\/v\ L VAR L :’I
_27[ O_ 2}2’9 7271- O“ 271-9
-10 10+
2 1 ) 1
4= ——m 4 4=, -4
3 4 3 4

30, Write an equation of the cosine function with the given amplitude, period, phase shift, and vertical shift.

3
amplitude: 3, period = 7, phase shift = - ZTL, vertical shift = -3
1 3 3
a, y=1+3cosi—0-—m|~-3 ¢c. y==x3cos|28-—mn|+3
2 2 2

1 3 3
b. y=43cos{— 0 +—m|+3 d. y=43cos|20 +—m|~3
2 2 2



Name:

3L

3z,

33.

34.

The normal monthly temperatures (°F) for Omaha, Nebraska, are recorded below.

Month | Jan | Feb | Mar | Apr | May | Jun | Jul | Aug } Sep | Oct | Nov | Dec
t l 2 3 4 5 6 7 8 9 10 It 12
Temp. | 21° [27°] 39° | 52° | 62° | 72° | 77°] 74° | 65° | 53° | 39° 25°

a. Write a sinusoidal function that models Omaha’s monthly temperature variation.
b. Use the model to estimate the normal temperature during the month of April.

i £l 1 b
a. a y=28snj—r-—|+49 c. a y=28sinj—m—-—|+49
2 6 6
b. y(4) = 49° b. y(4) = 49°
ot 11 | T
b. a y=49sinj—mn+—;+28 d. a y=>56sin|—n-—|+28
12 6 6 2
b. y(4) = 28° b. ¥(4) = 56°
Write an equation for the given function given the period, phase shift, and vertical shift.
1 1
tangent function, peried = 5 7, phase shift = m—ﬁin, vertical shift= —35
3 l 3
a. y=tan|38+—m|-5 ¢. y=tanj—G-—mn|+5
4 3 4

1 3
b, y=tan| -G +—-mn|+3 d.
3 4

Write the equation for the inverse of the function.

y=cos 2x

a. y==Cos™ 2x c.
1 -1

b. y=ECos 2x d.

7
y = Arctan [x +E]

=

a. y:tam+-£ . .
T

b. yztanx—g d.

3
=tan| 36 ——7|—5

y=Cos"

b | ®

=—Cos  x
Y7y

. !
=tanxy|x ——
g 2
B!
¥ :ta11x[x+~]
2

1D:
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35,

36.

37,

38.

39.

40.

41,

L
=— +sinx
a
TL . .
a. y:E_Arcsmx C. y*Arcsm{x—}

T

i
b. y=Arcsin {x +E

=— + Arcsinx
Y 4

~—
joR

y=Cos ™ (x -m)
a. Yy=T —COSX . Y=T+cosx
b. y=cos(x—mn) d. y=cos{x+m)
y = Arcsin 3x

- X I
a. y=sin 3 c. y= 3 sinx
b. y=3sinx d. y=smn3x

|
Find the value of tan| sin™ {"2“} .

. '\/5 C.

3
| 3
b, -~f3 d, ——\E—

3
What basic trigonometric identity would you use to verify that tan x cos x = sin x?
! 2 .2
a. Cosx = ¢, cos‘x+sin‘x=1
secx
. 1 sinx
b, sinx = d. tanx =
csex , cosx

What basic trigonometric identity would you use to verify that cot x sin x = cos x7
1

a. cos’x+sin‘x =1 ¢. COSX =
secx
cosx i ]
b. cotx=-— d. sinx=
sinx cscx
o o . sin’x +cos’x
What basic trigonometric identity would you use to verify that ————— = secx?
COSX
. | 2 . 2
a. sinx = c. cosx+sin‘x=1
CSCX
2 2 1
b, l+cot"x=csc'x d. cosx=
secx

ID:



42,

43,

44,

45.

46.

47,

48.

49.

50.

51

sinx +1

What basic trigonometric identity would you use to verify that — =1 +csex?
sinx
_ 1
a. sinx=cosxtanx c. C8Cx=—]—
sinx
b. cos’x +sin‘x =1 d. l+cot’x =csc’x

What basic trigonometric identity would you use to verify that sinx cosx tanx = 1 —cos’x?

sinx '
a. lanx = c. Ssmx=cosxtanx

COSX
b. cos’x+sin‘x=1 d. 1+tan’x =sec’x
Find cos x if sin x cot x = 4,
a 4 b, 2 e 1 4. 2
Findcotx if sinxcotxcscx = «[2‘
a. 4 b, A2 e 1 d 2

‘ sinx -1
Find cos x if —— =-1.
COSX

a -1 b, 2 c. 1 d O

Find csc x if sinx + cot x cos x = «/5

a. 9 b, 3 C. d.

-l5

Find the exact value of cos 15°,

N5
2 , 2o o . e
a. 4 . 4 C. 5 G, 4

If aand J are the measures of two first quadrant angles and sin « :g and sin 4 :—3,

find sin (a + ).
63 33 16 36
a — b. — c. — d —
05 65 65 65

Which sum or difference identity would you use to verify that cos (180° — &) = —cos &7
a. sin(a @)= sin acos B-cos asin f
b. cos(a-f) =cos acos F-sin asin
c. cos(a-f)=cos acosf+sin asin B
d. sin(a+ B =sin @cos S+ cos asin f

Which sum or difference identity would you use to verify that sin (90° + 6) = cos &?
a. cos(a—f)=cos excos B+ sin asin 3

b. sin(a+B) =sin acos f+cos asin

c. sin (a—f3) =sin acos - cos asin B

d. cos{a+/)=cos acos S—sin asin 3
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3
52. ifsnd= *g and &terminates in the first quadrant, find the exact value of cos 26.

3 9 3 7
a - b, - c. — d -
5 25 10 25

3
53. Ifsinf~ ——5~ and &terminates in the fourth quadrant, find the exact value of tan 26

7 24 9 25
— b, — c. d —-—
24 7 25 9

54, Use a half-angle identity to find the exact value of tan 105°.

-} 3
i e 243

a. —

a.

2
1-A3
i 2-+/3
2
' ) ) ) sin2x
55. Which double-angle or half-angle identity would you use to verify that " = cotx?
sin“x
o X | —cosx 2sinx
a sin—=2%, |— ¢. cotx=——7"
2 14 cosx J—sin“x
2tanx ] ]
b tanZx=——"7— d. sinZx = 2sinxcosx
l—tan‘x
. o . 2
56, Which double-angle or half-angle identity would you use to verify that | + cos2a = ————79
1+an o
2tan ) T
a. tanZag=—"""5— c. cosZa=cos"a—sil o
] —tan" «

o I—coso )
b, tan—=4x%, | d. cosa=2cos a—1
2 l +cos



